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SECTION II (Answer ONLY 5 questions in this section)

17. (a). Complete the table below for the function y = x> + 2x% — 5x — 6

(2 marks)

X

—4

=3

—7

=

0

2

173

Yy

—i8

q

O

—6

1
=3 1

2]

3
¥

(b). Using the values obtaine

1T

d in the table above draw the graph of y = x* + 2x* = 5x — 6
(3 marks)
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(¢) Using your graph in (b) above, solve the following equations.

i. x3+2x*-5x=6=0
X Y=xp2x=sr -6~

0=X"fx’-py =L ~

jﬁo

ii. x(x*+2x—4)=28
2242y *- 41 -£=0
] = X2t -5x -6
0= 24U

j: -X +*

(2 marks)

X==3 O X==)
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Y=0

o X=2 8 4 Ji]:;
(3 marks) pei
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23. A‘ triangle with A (-4, 2), B (-6, 6) and C (-6, 2) is enlarged by a scale factor -1 and centre (-2, 6) to produce
tnangle A'B'C!.

a) Draw triangle ABC and A'B'C'.and state its coordinates (4 marks)
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b) Triangle A'B'C' is then reflected in the line y = x+ 2 to give triangle A"B''C" draw A''B''C'! and state

its coordinates ¥ % ! (4 -1 G gark;')’w Jine 7/:1}1

y 3 2 1 % ﬁ, — (redf AR
! | :
A (3,2:) 3”(414) iy (2 4) ~__ 8, ~ fordirates ¢
¢) If triangle A"'B''C" is mapped onto A'''B'"'C'!" whose co-ordinates are A ; .
C"(-2, -2) by a rotation. Find the centre and angle of rotation. (3 marks)
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